IJﬂZ27E7J§ ESZ%? %i HIRERG SR
u:?*rDD:\ —N)U = /BEED
No FRE £1,8 %ZL F38 F4.8 F£5,8
/M BENFR 0.054 0.052 0.053 0.055 0.055
N2 |FESIDER 0.082 0.053 0.058 0.060 0.067
INS | BINVER 0.061 0.055 0.055 0.059 0.064
M BINER 0.049 0.058 0.053 0.054 0.053
NS /N 0.071 0.065 0.067 0.056 0.070
N6 [ E/DNER 0.059 0.063 0.065 0.065 0.060
INT | BEINVERR 0.074 0.076 0.074 0.067 0.064
N ER/IVER 0.058 0.055 0.052 0.054 0.061
N |FEHIINER 0.068 0.074 0.063 — 0.073
MO | [IBE/INER 0.049 0.047 0.054 0.047 0.048
M1 | B INVER 0.070 0.058 0.062 0.050 0.059
/M2 |BAdE/IVERR 0.063 0.060 0.061 0.060 0.062
M3 [ BRE/NER 0.065 0.065 0.065 0.065 0.069
M4 | KELE/ DR 0.064 0.057 0.058 0.071 0.059
N ERNEE A 0.069 0.064 0.066 0.058 0.062
M6 |BEENMNER 0.063 0.066 0.063 0.062 0.064
IMT | EREFIINVERR 0.063 0.067 0.058 0.055 0.058
M9 | KRB HNERR 0.045 0.048 0.049 0.044 0.044
D20 [ZIR/INEERS 0.053 0.051 0.049 0.057 0.064
IN21 | EERS VAR 0.063 0.066 0.061 0.058 0.058
IN22 | RZBINVER 0.069 0.071 0.074 0.064 0.069
IN23 | ILFIINVERR 0.061 0.065 0.061 0.055 0.061
IN24  |ZEITINVERR 0.070 0.062 0.062 0.060 0.062
25 [AEFINVERR 0.048 0.049 0.047 0.046 0.050
N26  |RTR H/INVERR 0.055 0.052 0.051 0.050 0.052
N27 | FOFINERR 0.058 0.058 0.060 0.064 0.063
28 |BERIVERR 0.061 0.060 0.059 0.055 0.055
29[RRI —/IMVER 0.069 0.059 0.064 0.063 0.068
N30 (RIS Z/IVER 0.077 0.077 0.072 0.074 0.076
N3 | BRAENERR 0.069 0.064 0.068 0.070 0.070
32 [db E/heERs 0.063 0.063 0.061 0.069 0.067
/N33 |BE)I/NVERR 0.100 0.120 0.090 0.106 0.130
N34 | KRIE/INVER 0.084 0.086 0.086 0.072 0.072
N35 | FENER 0.091 0.100 0.096 0.086 0.095
i1 AEPER 0.073 0.068 0.073 0.070 0.068
F2 |[EEHER 0.069 0.068 0.068 0.067 0.076
3 [FIPER 0.060 0.063 0.072 0.063 0.060
b4 [FEfER 0.073 0.064 0.063 0.077 0.066
5  [teH R 0.080 0.061 0.055 0.057 0.058
6 IR 0.069 0.050 0.061 0.055 0.058
F7  |FEHBER 0.069 0.069 0.074 0.076 0.074
8 IR 0.057 0.048 0.057 0.061 0.055
F9 [FEFER 0.062 0.067 0.058 0.069 0.062
F10 | BHREAERER 0.043 0.041 0.044 0.044 0.037
i1l [EREF)I AR 0.053 0.058 0.050 0.055 0.050
12 adbdeess 0.067 0.049 0.053 0.053 0.057
13 AR R 0.074 0.045 0.052 0.052 0.049
14  [A]EgPa PR 0.057 0.057 0.059 0.057 0.067
15  [BkAE = 0.065 0.064 0.064 0.062 0.066
16 [db Edh=eds 0.068 0.071 0.062 0.070 0.072
h17  [#EE T LS EREF AR 0.063 0.066 0.061 0.058 0.058
F18  [HEDZKR 0.073 0.059 0.059 0.063 0.058
=1 |hiIIRER 0.059 0.042 0.042 0.046 0.057
i FEEYHE 0.061 0.063 0.066 0.071 0.066
%2 [EBEIELE 0.082 0.086 0.084 0.082 0.085
3 |[FEHPHE 0.068 0.061 0.058 0.066 0.062
4 [AldE R 0.060 0.057 0.056 0.047 0.055
5  [MkEYHE 0.075 0.066 0.063 0.075 0.075
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